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1.2

1.3

2.4003
©

0. 200

.fm
2.4008
©
o
%. 200
1. 400

1. 400

FORUMS8



(m (m (m (m (m (m
1 1.400 1.000 0.000 1.400 1.000 0.000
2 1.400 0.000 0.000 1.400 0.000 0.000
1.4
(m
1 2.400 o
2 0.200 o
1.5
1 +
2
1.6
Ec
o ]
o 1
(N/m) (ﬁlm33
1| 24 24.0 2.500
2 | 24 24.0 2.500
Y . 24 .50(kN/m°)
1.7
Es
£ :
: 1
(N/mm) (ﬁlm33
1 | SD345 345.0 2.000
2 | SD345 345.0 2.000
1.8
(I [ 4 : 1.0)
R C (N/mm*)
O Sa
o ca T al T Oa
1 8.00 0.450 1.60 | 200.00 | 200.00
2 8.00 0.450 1.60 | 200.00 | 200.00

: 1.200

: 100.0 (kN/m2)

FORUMS8



1.9
(m) (m)
0.500 E—
1.000 2.400
1.10
1 20.000
: 21.000
1.11
[1]
Case
No. (m (m (KN/m?)
1 0.000 00 5.000
[2]
Case
No. (m m (kN/m?)
1 0.000 00 5.000
(N [ 4
No. (kNYor (kN/m?)
1 1.049 o o

FORUMS8



2
2.1
2.1.1
(@)
X X (kN)
1 (1.400x 1.400 - 1.000x% 1.000)x 2.400x 24.500 56.448
Wd2 56.448
2 1.400x 1.400x 0.200x 24.500 9.604
Wd 66.052
)
[1] ,[2]
X
(kN)
1 1.049
Wn2 1.049
Wn 1.049
(€))
[2]
X X (kN)
2 1.000x 1.000x 2.400x 10.000 24.000
Ww 24.000
4
[1]
We = Wd+Wn = 67.101(kN)
[2]
We = Wd+Ww+Wn = 91.101(kN)
2.1.2
[1]
8 ()
1 1.400x 1.400x 0.300 0.588
2 1.400x 1.400x 0.200 0.392
_— 0.980
U = 10.000x 0.980

9.800 (kN)

FORUMS8



[21
) ()
1.400x 1.400x 0.800 1.568
1.400x 1.400%x 0.200 0.392
— 1.960
U = 10.000x 1.960

19.600 (kN)

FORUMS8




2.2
2.2.1
[1]
H = 2.600 (m)
Hw = 0.500 (m)
y t = 20.000 (kN/m?)
) ysat = 21.000 (kN/m®)
= 0.000 (kN/m2)
a = 0.000 ( )
@ = 35.000 ()
5 = 23.333 ( )
2 3
I N\w = 59°
X Y
1 0.00000 | 0.00000
2 0.00000 | 2.60000
3 1.56224 | 2.60000
(KN/m)
P Co
w( ) (kN/m) (kN/m)
58 40.6790 0.8592 8.1233 |  49.6615 |  19.4046 0.0000
59 39.1160 0.8262 7.8112 | 47.7534 |  19.4244 0.0000
60 37.5855 0.7939 7.5056 |  45.8849 |  19.4000 0.0000
m (m m | vy | kN/m)
0.00000 | 1.56224 | 1.56224 | 5.000 |  7.8112

FORUMS8




(m

(m

(m

(kN/)

(KN/m)

7.8112

Wesin(w - ¢) — Co -

cos ¢

cos(w — ¢ — a — )
47,7534 X sin(59° - 35.000) — 0. 0000 X cos35. 000°

cos (59° - 35.000° — 0.000° - 23.333° )

19.4244 (kN/m)

P cos(a +90)

P sin(a +90)

19.4244 x cos( 0.000 + 23.333 ) =

19.4244 x sin( 0.000 + 23.333 ) =

17.8358 (kN/m)

7.6935 (kN/m)

hi Pui Pli Pi Phi Yi Phi Yi
) (KN/n) (KN/n) (kN/m) (kN/m) (m (kN.m/m)
1 2.1000 1.2602 11.4491 13.3447 12.2534 1.269 15.5495
2 0.5000 11.5095 12.8092 6.0797 5.5825 0.246 1.3733
2 2.6000 19.4244 17.8358 16.9228
ZAP}IL * Yi
——— = 0.949
S /Ph: (m)
1. 2602
11. 4491
11. 5095
12. 8092

FORUMS8




[2]
H = 2.600 (m)
He = 1.000 (m)
yt = 20.000 (kN/m°)
) ysat = 21.000 (kN/m*)
= 0.000 (KN/m?)
a = 0.000 ( )
® = 35.000 ( )
5 = 23.333 ()
2 3
1Aw = 59°
X Y
1 0.00000 | 0.00000
2 0.00000 | 2.60000
3 1.56224 | 2.60000
(KN/m)
P Co
w( ) (kN/m) (kN/m)
58 35.9925 3.4368 8.1233 |  47.5526 |  18.5806 0.0000
59 34.6096 3.3047 7.8112 |  45.7255 |  18.5995 0.0000
60 33.2554 3.1754 7.5056 |  43.9364 |  18.5762 0.0000
m (m m | ) | kN/m)
0.00000 | 1.56224 | 1.56224 | 5.000 |  7.8112
7.8112

FORUMS8




2.3
2.3.1

€Y)

Wesin(w — ¢) — Co-

cos ¢

cos(w — ¢ — a — 0)
45. 7255 X sin(59° - 35.000) — 0.0000 X cos35. 000°

cos(59° - 35.000° - 0.000° — 23.333° )

18.5995 (kN/m)

Ph =P cos(a + &) = 18.5995 x cos( 0.000 + 23.333 ) = 17.0784 (kN/m)
Pv =P sin(a + &) = 18.5995 x sin( 0.000 + 23.333 ) = 7.3668 (kN/m)
hi Pui Pli Pi Phi Yi Phi Yi
) (kN/TP) (kN/T) (kN/m) (kN/m) ) (kN.m/m)
1 1.6000 1.2596 9.0056 8.2121 7.5405 1.599 12.0573
2 1.0000 9.0653 11.7094 10.3874 9.5379 0.479 4.5686
> 2.6000 18.5995 17.0784 16.6259
EAPhi M Yi
= ——— = 0.974
= Ph; (m)
1. 2596
9. 0056
9. 0653
11. 7094

FORUMS8



- 10 -

[1]
(m)
V(KN) H(KN) X y M(KN.m)
56.448 0.000 0.000 0.000 0.000
1.049 0.000 0.000 0.000 0.000
43.081 0.000 0.000 0.000 0.000
-9.800 0.000 0.000 0.000 0.000
90.778 0.000 0.000
PV = Pv 2(B+D)
= 7.693x 2x (1.400+1.400)
= 43.081
2]
(m)
V(KN) H(KN) X y M(KN.m)
56.448 0.000 0.000 0.000 0.000
1.049 0.000 0.000 0.000 0.000
41.255 0.000 0.000 0.000 0.000
-19.600 0.000 0.000 0.000 0.000
79.152 0.000 0.000
PV = Pv 2(B+D)
= 7.367x 2x (1.400+1.400)
= 41.255
@
1 (
, v, 6N
min, gmax = — X —
R
2) (
gqmax = 2
* X
€s (m)
X (m), x = 3(B/2 - €s)
gmax : (kN/m?)
gmin : (kN/m?)

FORUMS8




- 11 -

[1]

90.778 _ 6X0.000
1. 400X 1. 400 ~ 1. 400X L. 400°
46.315 (KN/m?)
46.315 (KN/m?)

gmin, gmax =

gmax
gmin

Ww = 10.000x 0.500 = 5.000 (m)

51.315 (kN/m?)
51.315 (KN/m?)

W3max
W3min

[2]
79. 152 6%0. 000
-

gmin, gmax = + -
1.400X1.400 1.400X1. 400

40.384 (KN/m?)
40.384 (KN/m?)

gmax
gmin

Ww = 10.000x 1.000 = 10.000 (m)

50.384 (kN/m?)
50.384 (kN/m?)

W3max
W3min

FORUMS8



- 12 -

2.3.2
2(C )
[1]
4
M=a w IX
Q=a w Ix
M (kN.m)
Q (kN)
w = 51.315 (kN/m?)
Ix : =1.200 (m)
ly : = 1.200 (m)
a : ly/Ix
ly/Ix = 1.000
1
a M(KN.m)
Mx1 -0.0518 -3.828
Mx2 0.0277 2.047
a M(kN.m)
Myl -0.0518 -3.828
My2 0.0277 2.047
My2max | 0.0176 1.301
2)
[of Q (kN)
Qx1 0.4390 27.033
a Q (kN)
Qyl 0.4390 27.033

—Si(alx"2)

Mx 1

il

><

—
+l

’ Mx2
iQYI My 1

g () ()

2.0 2.5 3.

—>1y/1x

— 5 (I 4/EL"3)

0.4

—>Q(nlx)

FORUMS8



- 13 -

D

2)

4
=a w I¥
=a w Ix
M (kN.m)
Q (kN)
w = 50.384 (kN/m?)
Ix : = 1.200 (m)
ly : = 1.200 (m)
a - ly/Ix
ly/Ix = 1.000
a M(KN.m)
Mx1 -0.0518 -3.758
Mx2 0.0277 2.010
a M(kN.m)
Myl -0.0518 -3.758
My2 0.0277 2.010
My2max | 0.0176 1.277
a Q (kN)
Qx1 0.4390 26.542
a Q (kN)
Qyl 0.4390 26.542

—Sii(alx"2)

— /, L
—"\\ iy My2
1 Qxt u
1
Ny \ .
§~>‘ —
L /5(/
iy Mx2
1
—
iQYI My 1

Mx 1

Iy

L wd

FORUMS8



- 14 -

2.3.3

2C )

TR B O Bk

< >
2.400 2.600(mn)

mm

200

1000

(mm) (mm) (mm*)
130.00 | 300.0 D16 3.333 661.934
(mm) (mm) (mm*)

FORUMS8




- 15 -

[1]
M kN_m -3.8277 2.0469
N kN —_—
v kN 27.0328
B mm 1000.0 1000.0
H mm 200.0 200.0
bw mm 1000.0 1000.0
d mm 130.0 200.0
D16x 3.33 D16x 3.33
As mm? 661.93 661.93
As* mm? 0.00 0.00
0.0020 B H ASsin mm? 400.00 400.00
0.008 N 10°/c ca ASuin mm? —_—
n 15 15
X mm 41.8457 28.6621
f ck N/mm? 24.0 24.0
fyk N/mm? 345.0 345.0
0. N/mm? 1.5767 2.3641
0« N/mm* 8.0000 8.0000
o O
o N/mm? 49.8246 51.1448
0 « N/mm* 200.0000 200.0000
[} O
J 0.893
T N/mm? 0.2329
T a N/mm? 0.4500
)
T o N/mm? 1.3978
T o N/mm? 1.6000

FORUMS8



- 16 -

[2]

M kN_m -3.7582 2.0097

N kN —_— —_—

v kN 26.5422 E—
B mm 1000.0 1000.0
H mm 200.0 200.0
bw mm 1000.0 1000.0
d mm 130.0 200.0
D16x 3.33 D16x 3.33
As mm? 661.93 661.93
As* mm? 0.00 0.00
0.0020 B H ASsin mm? 400.00 400.00

0.008 N 10°/c ca ASuin mm? —_— E—
n 15 15
X mm 41.8457 28.6621
f ck N/mm? 24.0 24.0
fyk N/mm? 345.0 345.0
0. N/mm? 1.5481 2.3212
0« N/mm* 8.0000 8.0000

o O
o N/mm? 48.9202 50.2164
0 « N/mm* 200.0000 200.0000
[} O

J 0.893 E—

T N/mm? 0.2287 E—

T a N/mm? 0.4500 E—

o .

T o N/mm? 1.3724 E—

T o N/mm? 1.6000 E—

FORUMS8



- 17 -

2(C )

TARR O B i :

< >
2.400 2.600(m)

mm

200

1000

(mm) (mm) (mm*)
130.00 300.0 D16 3.333 661.934
(mm) (mm) (mm*)

FORUMS8




- 18 -

[1]
M kN_m -3.8277 2.0469
N kN —_—
v kN 27.0328
B mm 1000.0 1000.0
H mm 200.0 200.0
bw mm 1000.0 1000.0
d mm 130.0 200.0
D16x 3.33 D16x 3.33
As mm? 661.93 661.93
As* mm? 0.00 0.00
0.0020 B H ASsin mm? 400.00 400.00
0.008 N 10°/c ca ASuin mm? —_—
n 15 15
X mm 41.8457 28.6621
f ck N/mm? 24.0 24.0
fyk N/mm? 345.0 345.0
0. N/mm? 1.5767 2.3641
0« N/mm* 8.0000 8.0000
o O
o N/mm? 49.8246 51.1448
0 « N/mm* 200.0000 200.0000
[} O
J 0.893
T N/mm? 0.2329
T a N/mm? 0.4500
)
T o N/mm? 1.3978
T o N/mm? 1.6000

FORUMS8



- 19 -

[2]

M kN_m -3.7582 2.0097

N kN —_— —_—

v kN 26.5422 E—
B mm 1000.0 1000.0
H mm 200.0 200.0
bw mm 1000.0 1000.0
d mm 130.0 200.0
D16x 3.33 D16x 3.33
As mm? 661.93 661.93
As* mm? 0.00 0.00
0.0020 B H ASsin mm? 400.00 400.00

0.008 N 10°/c ca ASuin mm? —_— E—
n 15 15
X mm 41.8457 28.6621
f ck N/mm? 24.0 24.0
fyk N/mm? 345.0 345.0
0. N/mm? 1.5481 2.3212
0« N/mm* 8.0000 8.0000

o O
o N/mm? 48.9202 50.2164
0 « N/mm* 200.0000 200.0000
[} O

J 0.893 E—

T N/mm? 0.2287 E—

T a N/mm? 0.4500 E—

o .

T o N/mm? 1.3724 E—

T o N/mm? 1.6000 E—

FORUMS8



- 20 -

2.4
2.4.1

[1]
(n) (KN/m) m (KN/i)
1.900 9.622 1.900 9.622
2.500 15.523 | 2.500 15.523
[2]
(n) (KN/m) 0 (KN/m)
1.900 -19.000 1.900 |  -19.000
2.500 -25.000 | 2.500 |  -25.000

FORUMS8




- 21 -

2.4.2
1C )
1-1 45°
PB'| 1 x x\*
Mx = — = - =
2 6 B B
P.B
Sx = — - Px
2
MX - X (kN.m)
SX o X (kN)
X : (m)
1/P P
M:__l _thz
212 6
S = [P+ P h
- 1 2)2
y
Sy=8 - = -5
y h
M (kN.m)
S : (kN)
Sy : (kN)
y : (m)
[11
< >
P, = 9.622 (kN/m)
P, = 5.901 (kN/m)
B =1.200 (m)
h2 = 0.600 (m)
MCKN.m) | SCKN)
0.000 -1.155 5.773
0.600 0.577 0.000
MCKN.m) | SCKN)
0.000 1.043 7.543

—m
| |
. |
@
I |
- Ot
A AN
N N el
@
B
>
P, = 9.622 (kN/m)
P, = 5.901 (kN/m)

B =1.200 (m)

L[

N

h2 = 0.600 (m)
MCKN.m) | SCKN)
0.000 | -1.155| 5.773
0.600 0.577 |  0.000
MCKN.m) | SCKN)
0.000 1.043 | 7.543

FORUMS8




- 22 -

[2]

2.4.3

P, = -19.000 (KN/m)
P, = -6.000 (KN/m)

>

>
P, = -19.000 (kN/m)
P, = -6.000 (kN/m)

B =1.200 (m) B =1.200 (m)
h2 = 0.600 (m) h2 = 0.600 (m)
M(KN.m) S(kN) M(KN.m) S(kN)
0.000 2.280 -11.400 0.000 2.280 -11.400
0.600 -1.140 0.000 0.600 -1.140 0.000
MCKN.m) | SCKN) MCKN.m) | S(KN)
0.000 -1.890 | -13.200 0.000 -1.890 | -13.200
1( ) < >
0.000 2.400(m)
TR B D BEAL:mm
- (mm) (mm) (mm*)
100.00 | 300.0 D13 3.334 422.363
1000
(mm) (mm) (mm*)

FORUMS8



- 23 -

[1]
M kN_m 1.0430
N kN —_—
s kN 7.5434
B mm 1000.0
H mm 200.0
bw mm 1000.0
d mm 100.0
D13x 3.33
As mm’* 422.36
As” mm’ 0.00
0.0020 B H ASsin mm? 400.00
0.008 N 10°/c ca ASuin mm? —_—

n 15
X mm 29.8096
f ck N/mm* 24.0
fyk N/mm? 345.0
o N/mm? 0.7765
0 o N/mm? 8.0000

o
o N/mm? 27.4239
(6 N/mm* 200.0000

[}
J 0.901
T N/mm? 0.0838
T a N/mm? 0.4500

)
T o N/mm? 0.6281
T o N/mm? 1.6000

FORUMS8



- 24 -

[2]
M kN_m -1.8900
N kN —_—
v kN -13.2000
B mm 1000.0
H mm 200.0
bw mm 1000.0
d mm 100.0
D13x 3.33
As mm’* 422.36
As” mm’ 0.00
0.0020 B H ASsin mm? 400.00
0.008 N 10°/c ca ASuin mm? —_—

n 15
X mm 29.8096
f ck N/mm* 24.0
fyk N/mm? 345.0
o N/mm? 1.4070
0 o N/mm? 8.0000

)
o N/mm? 49.6946
(6 N/mm* 200.0000

)
J 0.901
T N/mm? 0.1466
T a N/mm? 0.4500

)
T o N/mm? 1.0991
T o N/mm? 1.6000

FORUMS8



- 25 -

1C )

TARR O B i :

<
0.000 2.400(m)

mm

200

1000

(mm) (mm) (mm*)
100.00 300.0 D13 3.333 422.291
(mm) (mm) (mm*)

FORUMS8




- 26 -

[1]

M kN_m -1.1546 0.5773

N kN —_— —_—

s kN 5.7730 —
B mm 1000.0 1000.0
H mm 200.0 200.0
bw mm 1000.0 1000.0
d mm 100.0 100.0
D13x 3.33 D13x 3.33
As mm? 422.29 422.29
As* mm? 0.00 0.00
0.0020 B H ASsin mm? 400.00 400.00

0.008 N 10°/c ca ASuin mm? —_— E—
n 15 15
X mm 29.8096 29.8096
f ck N/mm? 24.0 24.0
fyk N/mm? 345.0 345.0
0. N/mm? 0.8597 0.4298
0« N/mm* 8.0000 8.0000

o O
o N/mm? 30.3627 15.1814
0 « N/mm* 200.0000 200.0000
[} O

J 0.901 E—

T N/mm? 0.0641 E—

T a N/mm? 0.4500 E—

o .

T o N/mm? 0.4808 E—

T o N/mm? 1.6000 E—

FORUMS8



- 27 -

[2]

M kN_m 2.2800 -1.1400

N kN —_— —_—

s kN -11.4000 —
B mm 1000.0 1000.0
H mm 200.0 200.0
bw mm 1000.0 1000.0
d mm 100.0 100.0
D13x 3.33 D13x 3.33
As mm? 422.29 422.29
As* mm? 0.00 0.00
0.0020 B H ASsin mm? 400.00 400.00

0.008 N 10°/c ca ASuin mm? —_— E—
n 15 15
X mm 29.8096 29.8096
f ck N/mm? 24.0 24.0
fyk N/mm? 345.0 345.0
0. N/mm? 1.6976 0.8488
0« N/mm* 8.0000 8.0000

o O
o N/mm? 59.9571 29.9785
0 « N/mm* 200.0000 200.0000
[} O

J 0.901 E—

T N/mm? 0.1266 E—

T a N/mm? 0.4500 E—

o .

T o N/mm? 0.9494 E—

T o N/mm? 1.6000 E—

o .

FORUMS8



- 28 -

1C )

TARR O B i :

<
0.000 2.400(m)

mm

200

1000

(mm) (mm) (mm*)
100.00 300.0 D13 3.334 422 .363
(mm) (mm) (mm*)

FORUMS8




- 29 -

[1]
M kN_m 1.0430
N kN —_—
s kN 7.5434
B mm 1000.0
H mm 200.0
bw mm 1000.0
d mm 100.0
D13x 3.33
As mm’* 422.36
As” mm’ 0.00
0.0020 B H ASsin mm? 400.00
0.008 N 10°/c ca ASuin mm? —_—

n 15
X mm 29.8096
f ck N/mm* 24.0
fyk N/mm? 345.0
o N/mm? 0.7765
0 o N/mm? 8.0000

o
o N/mm? 27.4239
(6 N/mm* 200.0000

[}
J 0.901
T N/mm? 0.0838
T a N/mm? 0.4500

)
T o N/mm? 0.6281
T o N/mm? 1.6000

FORUMS8



- 30 -

[2]
M kN_m -1.8900
N kN —_—
v kN -13.2000
B mm 1000.0
H mm 200.0
bw mm 1000.0
d mm 100.0
D13x 3.33
As mm’* 422.36
As” mm’ 0.00
0.0020 B H ASsin mm? 400.00
0.008 N 10°/c ca ASuin mm? —_—

n 15
X mm 29.8096
f ck N/mm* 24.0
fyk N/mm? 345.0
o N/mm? 1.4070
0 o N/mm? 8.0000

)
o N/mm? 49.6946
(6 N/mm* 200.0000

)
J 0.901
T N/mm? 0.1466
T a N/mm? 0.4500

)
T o N/mm? 1.0991
T o N/mm? 1.6000

FORUMS8



- 31 -

1C )

TARR O B i :

<
0.000 2.400(m)

mm

200

1000

(mm) (mm) (mm*)
100.00 300.0 D13 3.333 422.291
(mm) (mm) (mm*)

FORUMS8




- 32 -

[1]

M kN_m -1.1546 0.5773

N kN —_— —_—

s kN 5.7730 —
B mm 1000.0 1000.0
H mm 200.0 200.0
bw mm 1000.0 1000.0
d mm 100.0 100.0
D13x 3.33 D13x 3.33
As mm? 422.29 422.29
As* mm? 0.00 0.00
0.0020 B H ASsin mm? 400.00 400.00

0.008 N 10°/c ca ASuin mm? —_— E—
n 15 15
X mm 29.8096 29.8096
f ck N/mm? 24.0 24.0
fyk N/mm? 345.0 345.0
0. N/mm? 0.8597 0.4298
0« N/mm* 8.0000 8.0000

o O
o N/mm? 30.3627 15.1814
0 « N/mm* 200.0000 200.0000
[} O

J 0.901 E—

T N/mm? 0.0641 E—

T a N/mm? 0.4500 E—

o .

T o N/mm? 0.4808 E—

T o N/mm? 1.6000 E—

FORUMS8



- 33 -

[2]

M kN_m 2.2800 -1.1400

N kN —_— —_—

s kN -11.4000 —
B mm 1000.0 1000.0
H mm 200.0 200.0
bw mm 1000.0 1000.0
d mm 100.0 100.0
D13x 3.33 D13x 3.33
As mm? 422.29 422.29
As* mm? 0.00 0.00
0.0020 B H ASsin mm? 400.00 400.00

0.008 N 10°/c ca ASuin mm? —_— E—
n 15 15
X mm 29.8096 29.8096
f ck N/mm? 24.0 24.0
fyk N/mm? 345.0 345.0
0. N/mm? 1.6976 0.8488
0« N/mm* 8.0000 8.0000

o O
o N/mm? 59.9571 29.9785
0 « N/mm* 200.0000 200.0000
[} O

J 0.901 E—

T N/mm? 0.1266 E—

T a N/mm? 0.4500 E—

o .

T o N/mm? 0.9494 E—

T o N/mm? 1.6000 E—

o .

FORUMS8
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2.5
2.5.1
@
U= Y Vi
1] (kN)
Yo = 10.000 (kN/m%)
Vi (m)
[1]
U = 10.000x 0.980
= 9.800 (kN)
[2]
U = 10.000x 1.960
= 19.600 (kN)
@
[1]
W = We = 67.101 (kN)
[2]
W = We = 91.101 (kN)
©)
. W
BRI E = E
[1]
_67.101
9. 800
= 6.847 Fa = 1.200
[2]
91. 101
F =
19. 600
= 4.648 Fa = 1.200
2.5.2
@
[1]
(m
V(kN) H(KN) X y M(KN.m)
66.052 0.000 0.000 0.000 0.000
1.049 0.000 0.000 0.000 0.000
43.081 0.000 0.000 0.000 0.000
-9.800 0.000 0.000 0.000 0.000
100.382 0.000 0.000

FORUMS8
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@

®

2]
(m)
V(KN) H(KN) X y M(KN.m)
66.052 0.000 0.000 0.000 0.000
1.049 0.000 0.000 0.000 0.000
24.000 0.000 0.000 0.000 0.000
41.255 0.000 0.000 0.000 0.000
-19.600 0.000 0.000 0.000 0.000
112.756 0.000 0.000
D ( )
; _ Ve
gmin, qmax 0B T DB
2) ( )
v
gmax = 2
* X
€s (m)
X (m), x = 3(B/2 - ey)
X
gmax : (kN/m?)
gmin : (kN/m?)
1]
. 100. 382 6 X 0. 000
Qmin, Qmax = + -
1.400X1.400  1.400X1. 400
Qmax = 51.215 (kN/m?)
Qmin = 51.215 (kN/m?)
[2]
. 112. 756 6 X 0. 000
Qmin, Qmax = =+ -
1.400X1.400 1.400X1. 400
Qmax = 57.529 (kN/m?)
Qmin = 57.529 (kN/m%)
[1]
Qmax = 51.215(kN/m*) Qa = 100.000(kN/m*)
2]
Qmax = 57.529(kN/m?)  Qa = 100.000(kN/m?)

FORUMS8
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